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Exam Style Questions *

Composite Functions CorbettmOtths
Inverse Functions
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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Guidance

1. Read each question carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

g Revision for this topic
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1. Given f(x) = Zx;-l f(';) )
= 4t
(a) Calculate the value of f(7) -7
3
() Find £~ (x) N At
I
3 -l X
-l
B
2. Thefunctions f(x) and g(x) are given by the following:
f&x)=3x-1
gx)=2x+4

(a) Calculate the value of fg(2)

gla) 2na+h 8 fafa): 23

fcg)>3x8 -1 = 43

(b) Calculate the value of ff(3)
P(3) 2 3x3-138
fes) =23

O o) a(sx) 4
= 42 td
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8. Thefunctions f(x), g(x) and h(x) are given by the following:

fx)=x*-3
gx)=2x+1
h(x)=%

(a) Find fg(x) - (;uﬂ)tfb

s (1at)f2e41)-3
Gt 4Gl = Bl 427 +4x-2

(b) Find gh(x)

2 %)H < X H

©) Find 7' (x) 23 | ?
74.3:1" )[’-[)[) g \fm‘ Lo/(at X7-3
Iyp -
................ @

4. The function fis such that f(x) = 4x — 7

(@) Solve f(x) =17 Uy -£> 7

42 2 XY
X:b
X6
(2)
(b) Find f~1(x) 7: by-7

PP 24X ) ‘17

vH Flos =
‘Yﬂ 3 A ——. 5
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5. Given f(x) =x>+2 and gx) =x+ 14

Find the values of a such that f(a) = g(a)

al)r& A+l
=l 2@

o)’

(3)
6.  Thefunctions f(x) and g(x) are given by the following:
f(x) =8 —3x
g(x) =

(a) Calculate the value of gf(3)

f3)= 8-(3#3) %
g(-1) = 4x- -4

(b) Solve the equation gf(x) =

9)[[1): 4(8-3x) = 312«

_/(21 e g()
08 = 1L

! fx) = 2% -1 7 5 5211 -'/
Find £~ (x) 7+/ 2 22t

P
2
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8.  Given f(x)=x2 +3x-5

Express f(2x - 1) in the form ax2 + bx + ¢

Plaw)> (ax-1)

F3(ax-l) =S

az*)/ll”) FhL-375

2 Gr Tl T réx - & bz*+22 -7
- 41 rlx Z ................................. (3)
9 The function f is such that f(x) kx+3

The function g is such that g(x) =

Given that gf (2) -

work out the value of k

f)f[z) : 2(k2+3) -0
0(z) = k42 =34

10. For all values of x,

f=x*+4
gx)=x-9

soive fg(x) = gf(x)
Fol2)® (x-9)"+4
2 (2-9)(x-9)+4

= )(LJg)U'g’*Q
- )[Z—/gl +85
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2% —4

< Ak H~4

= b+

@
2 {x) : /Xz fé/ -9
g )(z -5
f;(x/= ﬂ/ffi)

A e IR
X » & < =5
—(8x = -40
2 =5
.................... v




1. fx)=x*+2x+1

Show that f(x +2) — f(x) =4x+ 8
70[1) AR A
Prara) = (21) + 2(x12) t]

Lt b g2 FT
1% 41 +4

Lrai)-fa) ~ 2 +¢  qp)

K]

[N}

(3)
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